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    पूर्ाांक : 100 
  M.M. : 100 

Attempt any two questions in all.  

All questions carry equal marks. 

ककन् हीं दो प्रश् नों के उत्ति दो।  

सभी प्रश् नों के अंक समान हैं। 

(Write your Name and Roll No. on each page of your answer sheet.) 

(अपनी उत्तर पुस्तिका के प्रत्येक पषृ्ठ पर अपना नाम और रोल नंबर ललखें।) 

Note : The maximum marks printed on the question paper are applicable for the students. These marks will, 

however be scaled down proportionately in respect of the students of regular colleges, at the time of 

posting of awards for compilation of result.  

  प्रश् न-पत्र पि अंककत परू्ाांक ष्टिद्यार्र्थयों के ष्टिए अनुप्रोज्य है। तर्ाष्टप ये अंक िेगुिि कॉिेज के ष्टिद्यार्र्थयों 

के संबंध में उनके परिर्ाम के संकिन के ष्टिए ष्टनयुक्त अष्टधष्टनर्थय के समय पि, उनके आनुपाष्टतक रूप में 

कम होंगे। 

Q.1.   

Consumption   :  C = 40 + 0.75Y 

Investment   : I = 140 – 10i 

Government Expenditure : G = 100 

Tax    : T = 80 

Money Demand  : Md = 0.2Y – 5i 

Money Supply   : Ms = 85 

(i is % interest rate; other figures in Rs. Crores) 

a) Find out the equilibrium income, Y and interest rate i. 

b) Suppose the government increases its expenditure on education by Rs. 65 Crores? 

What would be its effect on equilibrium income and rate of interest. 

खपत  :  C = 40 + 0.75Y  

निवेश  : I = 140 - 10i 

सरकारी व्यय : G = 100 

कर   : T = 80 

पैसे की माांग  : Md = 0.2Y – 5i 

मुद्रा आपूनति  : Ms = 85 

( i - % ब्याज दर,  रुपये में अन्य आांकडे) 
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 क) सांतुलि आय, Y और ब्याज दर i ज्ञात कीजजए।  
ख) माि लीजजए कक सरकार िे शशक्षा पर अपिा खर्ि रुपय ेसे बढा ददया है। 65 करोड? 

इसका आमदिी और ब्याज दर पर क्या असर होगा। 
 

Q.2. i) Explain Circular Flow Of Income four sector model. 

ii) Give briefly outline of Expenditure Method. State precautions to be taken in 

expenditure method to avoid double counting. 

क) आय के र्ार सेक्टर मॉडल के पररपत्र प्रवाह की व्याख्या करें।  
ख) व्यय ववधि की सांक्षक्षप्त रूपरेखा दीजजए। दोहरी धगिती से बर्िे के शलए व्यय ववधि में 

क्या साविानियाां ली जाएां। 
 

Q.3. Write Short note: (ANY 3) 

i. IS – LM 

ii. Government and Tax Multiplier 

iii. BOP and its Accounts 

iv. Inflation and it’s causes 

Short note शलखें: (कोई भी 3) 

i. IS – LM 

ii. सरकार और कर गुणक 

iii. बीओपी और उसके खाते 

iv. मुद्रास्फीनत और इसके कारण 

 

Q.4.  i. How banks create credit? 

ii. RBI wants to control inflation. Describe the tools of monetary policy used in 

this context.   

i. साख निमािण की प्रकिया का वणिि करें। 
ii. RBI मुद्रास्फीनत को नियांत्रत्रत करिा र्ाहता है। इस सांदभि में प्रयुक्त मौदद्रक िीनत के 

उपकरण का वणिि करें। 
 
 


